BEXTILR120FLLE

T—F 9/9 (1) 9/10(H) 9/16 (X)
N 3z T =B =B
1R 2R 3R SF
-I 1 P9 & 05. (BREARTC)
fHE HDY 05. BTEKRTC)
2 bye S
5 BAE B FrLoD) 9:15
KA BREF 28 (FrLrD) 1000
4 IEE B 08. (F¥ A TC) )
ZEE REF 08 (FvYURTO)
5 INEHE B— 05 BEARTC)
m=is BhF 08. (F¥>YRTC) 10:00
6 PNl 06. (R2—TC) 1
FE BT 06. (R#—TC) 9:15
T bye —
6 38 wE 17. (Fz1)—)
& ERF 17. (FzY—) 9:15
3 9 WA F8A 05. (JFEARTC)
g2 £EF 05 GREKTC)
10 bye N
[ ZREE B FvLvY) 9:15
R BE 08. (F¥* >~ RTC) 10-45
12 A EER 04 (NTT R&D) )
N E0F 04. (NTT R&D)
13 Bl B 13. (FDETC)
B FBF 20. (Good shot) 10:45
14 I 2 01. J57=x4577) )
Sl EEF 1L.(FzVU) 9:15
15 bye —
7 g;k 16 WA FER 13. (FDETC) g
Bl BF 13. (FDETC)
5 ﬁ 17 KE 09. (T. 0. P)
/NA BF 09.(T. 0. P)
18 bye — 1
1o FEBE B FrLuY) 9:15
ik BE 2. (FrLd) 10:45
20 HE % 05. (BREATC) M
O £3EF 05 FEXRTC)
21 RE A 2. (FrLoP)
#E $2F 2. (FyLrD) 11:30
22 INE B 06. (R2—TC) )
A BEx 06. (R2—TC) 9:15
23 bye —
4 24 BA mal 09. (T. O. P)
foggE FHF 09.(T. 0. P) 9:15
8 25 ®IE ME 13. (FDETC) ’
HIE EXTF 13. (FDETC) 11:30
26 R &85 17.(FzU-) )
FHHBEKR 11 (FzU-o) 10:00
27 INE HB 17. (Fzxz)—) ’
g #T 17. (Fz 1)) 11:30
28 SHE ANCEVOERID) )
XA #F 23. (FrLrd)
29 T BEE 12. (EOETC)
2 BF 22. (ERAHKF) 12:15
30 T2 1] 08. (F¥>XTC) )
SH =t 0. (F¥URTC) 10:00
31 bye —
2 32 R N 05. (FFEKRT C) g
FH FEF 05 FFEKRTC)




